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® g(x—2)(x—4) @
® %(3x—2)(x+4) @ -
® g(x+2)(x+4)
(A = % (x* +2x-8)
= -2+




2.

0 BAA a—b—c+d o L Fatolet,

7]
@ 22 +2x—15= (x-3)(x+a)
© 2x2 +10x+ 12 =2(x + 3)(x + b)
© (x+c)(x—c)=x2-9 (c>0)

@ -2x2 - 16x—32 = -2(x + d)?

Ch "
H =

[ 2
> =g 4

~&B

Dx2+2x-15=(x-3)(x+5) ~a=5
©2x2 +10x+12=2(x+3)(x+2) ~.b=2
© (x+3)(x-3)=x2-9 c=3

@ -2x2—16x—-32=-2(x+4)2 ~d=4

et a=5 b=2 ¢c=3,d=49B2a-b-c+d=4

olct




3.

ohe A x84 4+ 4x, 63 4202 O] FFY JISE oY

@x(x +2) @ x*(x+2) ® x(x*+2)
@ x(x+4) ® x*(x+4)

1%+ 4x% + 4x = x(x® + 4x + 4) = x(x + 2)?
1%+ 2x% = x2(x +2)
L3 RpE x(x+2)




4. S AR+ Bx+C 5 ISR SFAEY (3x-1)(2x+1) ©] =it
ol W, A+ B+ C 9] g& F5toizt.

> E

[> HE A+B+C=6

~&B ,

Ax* 4+ Bx+C = (3x-1)(2x+ 1)
AX> + Bx+C=6x2+x-1
ZA=6,B=1C=-1
LA+B+C=6




5.  75x?-12y* = a(bx+cy)(bx—cy) W, AT a, b, c & Fa+b+c
o] gr& stH?

@ow o1 0w @  ©3

75x% — 12y% = 3(25x% — 4y?) = 3(5x + 2y)(5x — 2y)
La=3,b=5c=2
sa+b+c=10




O (x+3y-1)(x=3y+1) @ (x+3y+1)(x-3y-1)
(@)(x—l—3y—1)(x—3y—1) @ (x+3y-1)(x+3y-1)
® (x+3y+1)(x-3y-1)

(&4 = {(x-1)+3y} {(x-1) -3y}
=(x+3y-1)(x—-3y-1)




a® + 36b% — 12ab - 25 &
A9) gHg Fa?

D a-12b @2a -12b ® 3a-12b
@ 4a-12b ® 5a-12b
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(F4]) = a® - 12ab + 36b* — 25
= (a—6b)2 - 25
= (a—6b+5)(a—6b-5)
. (a=6b+5)+ (a—6b-"5)=2a—12b




8.  3a’b-ab 9 257} ofd ALY

@ 1 @ a ® b @ G)arp

3a?b — ab = ab(3a - 1) °| 22 3ab? — ab 2] 150l a’b+= §lT}.




9. (20+5)(2x+9)+k 7h SATAl] B wf, A% k O] GE Fatoat,

> E.

> Hetl k=4

4x2 4+ 28x+ 45+ k = (2x + 7)?
k=4




10. 2 -18x+A = (x+4)(x—B) & 1, A, BY] gr-S Z+7} Fstoat,

> £
> =
[> HED A=-88
> Mg B=22

x2—18x-88 = x>+ (4— B)x— 4B
4-B=-18, .. B=22
S A=-4B = -88




11. 62 +7x+2 2 A5E5lotH, (ax +b) (ex +d) 7. a+b+c+d
o] gk& Fstof et

> E.

> ®™et: 8

6x2 +7x+2=(3x+2) (2x+ 1)
La+b+c+d=8




12. 6x?—xy+Ay* = (3x— By) (Cx + 3y) & o, A-BC 9] k= F5tofzh.

> E.

[> ™M=t A-BC = -25

(3x — By) (Cx + 3y)

=3Cx? + (9 - BC) xy — 3By?
= 6x2 — xy + Ay?
3C=6,C=2
9-BC=-1, B=5
A=-15

. A-BC=-25




13. 5 o|ZH4) ¥ £ ax+6, 3¢+ 3x— b <] FE A7 x4 22 0, ab
o] gk Fatofet.

>

> A a-b=-1

~&B ~

¥ +ax+6=(x+2)(x+p)
=x>+(p+2)x+2p
p=3
24+ p=a .. a=>5
3x2+3x-b = (x+2)(3x+q)
=32+ (g+6)x+2g
6+g=3, qg=-3
2q=-b..b=6
Ta-b=5-6=-1




14.

2 4+ax—20292°

215 Shrhx+ 4 2 g 9 g2

@ -2 @—1 ®0 @ 1

X +ax-20=(x+4)(x-5) a=-1




15. 2x3 - 8xy? & A4-HE5l5tH?

D x(x+2y)(x—2y) @2x(x +2y)(x —2y)

® 2(x+2y)(x-2y) @ 2x(x+2y)(x-y)

® 2x(x+y)(x-2y)

2x3 — 8xy? = 2x(x? — 4y?)
= 2x(x + 2y)(x - 2y)




@x(x—fi) @ (
@ (x-4)(x+2)

® x(x-4)

x-2=1% A&
P -2t-8=(t+2)(r—4)

x(x—6)




x—y=A 2 A%}ty
(x-y)(x—y+6)+9=A(A+6)+9
=A%+ 6A+9
= (A+3)?
= (x-y+3)*




18.

ab-2a-2b+4 5 <

@ (a+2)(b-2)

@ (a-2)(b+2)
® (a+1)(b-2)

® (a+2)(b+2)




19. x=V2+1,y=v2-1<2 ) - o] g3 757

® 2 @v2 222 @ivi O3

x+y=2V2, x-y=2
2=y =(x+y)(x-y) =2V2x2 =42




20. a=175 b=0.25 <€, a® - 6ab + 9b> 9 FF L5HH?

On @ 2 ® 3 @ 4 ® 5

a® — 6ab + 9b? = (a — 3b)?
= (1.75 - 3 x 0.25)2
=12=1




